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Gaussova eliminacija: sistem brez resitev
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Gaussova eliminacija: sistem brez resitev

pivot. podpivotni element
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Gaussova eliminacija: sistem brez resitev
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Gaussova eliminacija: sistem brez resitev
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Gaussova eliminacija: sistem brez resitev

Ze urejeno obmocje: ne spreminjamo ve¢

® 2 3 4]0

@ (4 7 13 3)|n-2
En(—2 2 30)|m+1
EB3)(—6 —7 —10]3)/IV+3l

1 2 3 4 0
0 01 5 3
000 —4| -3
000 -8 -3
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Gaussova eliminacija: sistem brez resitev
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Gaussova eliminacija: sistem brez resitev
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Gaussova eliminacija: sistem brez resitev

pivot.
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